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restart
AA = array([[2,3], [4,6]])
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AA =

Xcero == array([3,-51])
Xcero = [ 3 -5 ]
with(linalg) :
MatExp = exponential(AA, t)
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Solucion = evalm( MatExp &* Xcero)
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Solucion = ?—ge " € e
Sol, = x,(t) =Solucion,; Sol, = x,(t) = Solucion,
33 9 8¢
Sol, = x,(1) = ? — g e
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Sistema = diﬁ"(yl(t), t) =2-y,(8) +3-p,(1), diﬁ"( Y, (2), t) =4-y,(1) +6-y,(1) : Sistema,;

Sistema2

() =23,(0) +33,(0)

) =40 + 63,00

Condiciones = y,(0) =3,,(0) =-35;
Condiciones .= y,(0) =3,y,(0) = -5

SolPart := dsolve( {Sistema, Condiciones})
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SolPart = {yl(t)_? —ge ,yz(t)——ze
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